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BOOKS - RD SHARMA MATHS (ENGLISH)

OPERATIONS ON WHOLE NUMBERS

Others

1. Find the sum of 654, 392 and 108.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_60znMUozZK6S


2. Determine the sum by suitable re-arrangement:

Watch Video Solution

637 + 908 + 636

3. Do the following calculations by suitable
 re-

arrangements:

Watch Video Solution

31 + 32 + 33 + 34 + 35 + 65 + 66 + 67 + 68 + 69

4. Fill in the blanks to make each of the
 following a

true statement:
 359 + 476 = 476  +  . . . . . .

https://dl.doubtnut.com/l/_nCpBe1tTk49u
https://dl.doubtnut.com/l/_8yWIi05VHfGE
https://dl.doubtnut.com/l/_Je2EaWmE6a0O





Watch Video Solution

. . . .   +  1952 = 1952 + 2008 90758 + 0 = . . . . .

5. Add each of the following and check by
 reversing

the order of addends:

Watch Video Solution

1 + 2 + 3 + 4 + 1996 + 1997 + 1998 + 1999

10 + 11 + 12 + 13 + 14 + 15 + 16 + 17 + 18 + 19 + 20

6. Which of the following statements are true and

which are false?
 The sum of two odd numbers is an

odd number.
The sum of two odd numbers is an even

https://dl.doubtnut.com/l/_Je2EaWmE6a0O
https://dl.doubtnut.com/l/_opVamliDKGOq
https://dl.doubtnut.com/l/_ULYAmOFShtpt


number.
 The sum of two even numbers is an even

number.
 The sum of two even numbers is an odd

number.
 The sum of an even number and an odd

number is
an odd number.
The sum of an odd number

and an odd number is
 an even number
 Every whole

number is a natural number.
Every whole number is a

whole number.
 There is a whole number which when

added to a
whole number, gives that number.
There is

a natural number which when added to a
 natural

number, gives that number.
 Commutativity and

associativity
 are properties of whole numbers

  Commutativity and associativity
 are properties of

addition of whole numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_ULYAmOFShtpt


7. Perform following subtractions and check your

answer by corresponding additions:
 2020201 -

565656           (ii)  100000 - 98765

Watch Video Solution

8. Replace each * by the correct digit in each of
 the

following:
5376 - * * 59 =46*7             

Watch Video Solution

https://dl.doubtnut.com/l/_ULYAmOFShtpt
https://dl.doubtnut.com/l/_rieLwwRfe3p8
https://dl.doubtnut.com/l/_rrGYxYQfuBKO


9. A magic square is an array of numbers having the

same number of rows and columns and the sum of

the numbers in a row column and the sum of the

numbers in each row column or diagonal being the

same. Fill in the blank cells of the following magic

square.

Watch Video Solution

10. Gorang had Rs. 61000. He gave Rs. 8775 to Ashok,

Rs.
 12638 to Akbar and Rs. 35000 to Anthony. How

much money was left with him?

Watch Video Solution

https://dl.doubtnut.com/l/_Zo1CRpITVlKl
https://dl.doubtnut.com/l/_FcTTQEcy9BEn


11. EXAMPLE 3 A magic square is an array of numbers

having the same number of rows and columns and

the sum of the numbers in a row column and the sum

of the numbers in each row column or diagonal being

the same. Fill in the blank cells of the following magic

square.

Watch Video Solution

12. Perform the following subtractions and check
your

results by performing corresponding additions:


(ii) 57839  −  2983 92507  −  10879

https://dl.doubtnut.com/l/_FcTTQEcy9BEn
https://dl.doubtnut.com/l/_gOr3N9q5x3nj
https://dl.doubtnut.com/l/_Osednm0AOym2


Watch Video Solution

13. Perform the following subtractions and check
your

results by performing corresponding additions:


(ii) 

Watch Video Solution

200000  −  97531 3030301  −  868686

14. What is the difference between the largest

number of five digits and the smallest number of six

digits?

Watch Video Solution

https://dl.doubtnut.com/l/_Osednm0AOym2
https://dl.doubtnut.com/l/_hnQdGa2mI2WZ
https://dl.doubtnut.com/l/_hinDfekX8RBk
https://dl.doubtnut.com/l/_SPCR5JJ16H5X


15. Find the difference between the largest number
4

digits and the smallest number of 7 digits.

Watch Video Solution

16. Rohit deposited Rs. 125000 in his savings bank

account. Later he withdrew Rs. 35425 from it. How

much money was left in his
account?

Watch Video Solution

17. The population of a town is 96209. If the
 number

of men is 29642 and that of women is 29167,

https://dl.doubtnut.com/l/_SPCR5JJ16H5X
https://dl.doubtnut.com/l/_18PtNFyEDaE4
https://dl.doubtnut.com/l/_T84FPs3TwHVX


determine the number of
children.

Watch Video Solution

18. The digits of 6 and 9 of the number 36490 are

interchanged. Find the difference between the

original number and the new
number.

Watch Video Solution

19. The population of a town was 59000. In one year
it

was increased by 4536 due to new births. However,

9218 persons died or left
 the town during the year.

What was the population at the end of the year.

https://dl.doubtnut.com/l/_T84FPs3TwHVX
https://dl.doubtnut.com/l/_mj1oFXSzk2R9
https://dl.doubtnut.com/l/_WQSyYBWcYWGf


Watch Video Solution

20. Find the following products:


Watch Video Solution

4  ⋅  4957  ⋅  25

21. Determine the following products by suitable
 re-

arrangement:


Watch Video Solution

8  ⋅  125  ⋅  40  ⋅  25

22. Find the values of each of the following using

various properties:
538 × 8 + 538 × 2

https://dl.doubtnut.com/l/_WQSyYBWcYWGf
https://dl.doubtnut.com/l/_bk9TDG2PxBDB
https://dl.doubtnut.com/l/_dpGjWGYqSx7I
https://dl.doubtnut.com/l/_RWfYaGNjthUs


Watch Video Solution

23. Multiply 475 by 64.

Watch Video Solution

24. Multiply 5217 by 325

Watch Video Solution

25. The product of two 2-digit numbers is 1938. If
 the

product of their units’s digits is 28 and that
 of ten’s

digits is 15, find the numbers.

https://dl.doubtnut.com/l/_RWfYaGNjthUs
https://dl.doubtnut.com/l/_yeais3DEOlUF
https://dl.doubtnut.com/l/_eF9Yh2OffHBT
https://dl.doubtnut.com/l/_cUOKRqQLYfqF


Watch Video Solution

26. Determine the product of the greatest number of

four digits and the greatest number of three digits.

Watch Video Solution

27. Fill in the blanks to make each of the
 following a

true statement:
 (i) 
 (ii) 
 (iii)


 (iv) 
 (v) 

Watch Video Solution

785 × 0 = 4567 × 1 =

475 × 129 = 129 × × 8975 = 8975 × 1243

10 × 100 × ... = 10000

https://dl.doubtnut.com/l/_cUOKRqQLYfqF
https://dl.doubtnut.com/l/_UXWsYDiZou1J
https://dl.doubtnut.com/l/_qSl5rI5Y8E1l


28. Determine each of the following products by

suitable rearrangements:


Watch Video Solution

2 x 1497 x 50

29. Using distributivity
of multiplication over addition

of whole numbers, find each of the following

products:


Watch Video Solution

736 x 103

30. Find each of the following products:


Watch Video Solution

736 x 93

https://dl.doubtnut.com/l/_CAXAAJwaYQ9g
https://dl.doubtnut.com/l/_ie3ee6lCcdTy
https://dl.doubtnut.com/l/_sZLbhDtvwRkV


31. Find the values of each of the following using

properties:


Watch Video Solution

493 × 8 + 493 × 2

32. Determine the product of:
The greatest number of

five digits and the
greatest number of three digits

Watch Video Solution

33. In each of the following, fill in the blanks,
 so that

the statements is true:
(500+7)(300-1)= 299 x ___

https://dl.doubtnut.com/l/_sZLbhDtvwRkV
https://dl.doubtnut.com/l/_gvAST6dGx7V8
https://dl.doubtnut.com/l/_Modh8qLVuXiB
https://dl.doubtnut.com/l/_LPiSKA7F7IcL


Watch Video Solution

34. A dealer purchased 125 colour television sets.
 If

the cost of each set is Rs. 19820, determine the cost

of all sets
together.

Watch Video Solution

35. The annual fee charged from a student of class
VI

in a school is Rs. 8880. If there are, in all, 235 students

in class VI,
find the total collection.

Watch Video Solution

https://dl.doubtnut.com/l/_LPiSKA7F7IcL
https://dl.doubtnut.com/l/_KHpHaaeOAE9d
https://dl.doubtnut.com/l/_yzY0dL50nXxK


36. A group housing society constructed 350 flats.
 If

the cost of construction for each flat is Rs. 993570,

what is the total
cost of construction of all the flats.

Watch Video Solution

37. The product of two whole numbers is zero. What

do you conclude?

Watch Video Solution

38. What are the whole numbers which when

multiplied with itself gives the same number?

https://dl.doubtnut.com/l/_WKdFTVNhtOrR
https://dl.doubtnut.com/l/_ays3pT6PRjJS
https://dl.doubtnut.com/l/_8AnXrdAfU9Xn


Watch Video Solution

39. In a large housing complex, there are 15 small

buildings and 22 large building. Each of the large

buildings has 10 floors
 with 2 apartments on each

floor. Each of the small buildings has 12 floors
with 3

apartments on each floor. How many apartments are

there in all.

Watch Video Solution

40. Divide 46087 by 356

Watch Video Solution

https://dl.doubtnut.com/l/_8AnXrdAfU9Xn
https://dl.doubtnut.com/l/_veazollB7zCk
https://dl.doubtnut.com/l/_qzuqdRToITsy


41. Find the number which when divided by 46 gives
a

quotient 11 and remainder 18.

Watch Video Solution

42. Does there exist a whole number a such that

Watch Video Solution

a ÷ a = a?

43. Find the value of:


(i) 
23457 ÷ 1

https://dl.doubtnut.com/l/_qzuqdRToITsy
https://dl.doubtnut.com/l/_NWf8hj6ZADCT
https://dl.doubtnut.com/l/_gJvIls3NmBVT
https://dl.doubtnut.com/l/_iGqv3e1A7q1b


(ii) 

Watch Video Solution

0 ÷ 97

44. Find the value of:


Watch Video Solution

(2758 ÷ 2758) − (2758 ÷ 2758)

45. Which of the following statements are true:


 and

Watch Video Solution

10 ÷ (5 x 2) = (10  ÷ 5)x (10 ÷ 2)

(35 − 14) ÷ 7 = 35 ÷ 7 − 14 ÷ 7

https://dl.doubtnut.com/l/_iGqv3e1A7q1b
https://dl.doubtnut.com/l/_i98jHsKAQA9l
https://dl.doubtnut.com/l/_ZM2UTGgG8cpZ
https://dl.doubtnut.com/l/_uJTP2J2wFZqj


46. Divide and check the quotient and remainder:

Watch Video Solution

7772 ÷ 58

47. Find the number which when divided by 35 gives

the quotient 20 and remainder 18.

Watch Video Solution

48. Find the number which when divided by 58 gives
a

quotient 40 and remainder 31.

Watch Video Solution

https://dl.doubtnut.com/l/_uJTP2J2wFZqj
https://dl.doubtnut.com/l/_V6uL8TMZo6Ao
https://dl.doubtnut.com/l/_xVMZEyfVePln


49. The product of two numbers is 504347. If one of

the numbers is 1591, find the other.

Watch Video Solution

50. On dividing 59761 by a certain number, the

quotient in 189 and the remainder is 37. Find the

divisor.

Watch Video Solution

https://dl.doubtnut.com/l/_xVMZEyfVePln
https://dl.doubtnut.com/l/_MqDzHbiJP59b
https://dl.doubtnut.com/l/_uU61mlpUbbZh


51. On dividing 55390 by 299, the remainder is 75.
Find

the quotient using division algorithm.

Watch Video Solution

52. Without drawing a diagram, find
 (i)10th square

number       (ii) 
6th triangular number

Watch Video Solution

53. Can a rectangular number also be a square

number?
 Can a triangular number also be a square

number?

https://dl.doubtnut.com/l/_XBIqTWYT9NH7
https://dl.doubtnut.com/l/_eUMGnzcrnEq2
https://dl.doubtnut.com/l/_dZHVBDyVBYfn


Watch Video Solution

54. Write the first four products of two numbers
with

difference 4 starting from in the following order:
1, 2,

3, 4, 5, 6, .....
 Identify the pattern in the products and

write
the next three products

Watch Video Solution

55. Observe the pattern in the following and fill
in the

blanks:
 





9 x 9 + 7  = 88 98 x 9 + 6 = 888

987 x 9 +   = 8888 9876 x 9 + 4 = .

https://dl.doubtnut.com/l/_dZHVBDyVBYfn
https://dl.doubtnut.com/l/_WE4WRd9qTcmI
https://dl.doubtnut.com/l/_ohaEE5BgItCJ





Watch Video Solution

98765 x 9 + 3 = . 987654 x 9 + 2 =

9876543 x 9 + 1 =

56. Observe the following pattern and extend it to

three more steps:










Watch Video Solution

6 x 2 − 5  = 7

7 x 3 − 12 = 9

8 x 4 − 21 = 11

9 x 5 − 32  = 13

https://dl.doubtnut.com/l/_ohaEE5BgItCJ
https://dl.doubtnut.com/l/_12WB2DKS1Cpx


57. Study the following pattern:


 By

observing the above pattern, write next two
steps.

Watch Video Solution

1 x 1 + 2 x 2                          =   
2 x 3 x 5

6

1 x 1 + 2 x 2 + 3 x 3            =  
3 x 4 x 7

6

1 x 1 + 2 x 2 + 3 x 3 + 4 x 4 =
4 x 5 x 9

6

58. Study the following pattern:


 By

observing the above pattern, write next two
steps.

1 x 1 + 2 x 2                          =   
2 x 3 x 5

6

1 x 1 + 2 x 2 + 3 x 3            =  
3 x 4 x 7

6

1 x 1 + 2 x 2 + 3 x 3 + 4 x 4 =
4 x 5 x 9

6

https://dl.doubtnut.com/l/_ODM16S3eWbgy
https://dl.doubtnut.com/l/_Ae4QXVqbbQiS


Watch Video Solution

59. Which one of the following is the smallest
 whole

number?


(a)1     


(b)2          

(c)0              

(d)none of these

Watch Video Solution

60. Which one of the following is the smallest even

whole number?


https://dl.doubtnut.com/l/_Ae4QXVqbbQiS
https://dl.doubtnut.com/l/_xywUGFwjJoub
https://dl.doubtnut.com/l/_bziN7MLheSY8


(a)0     


(b)1          

(c)2              

(d)none of these

Watch Video Solution

61. Which one of the following is the smallest odd

whole number?
(a) 0     
(b)     1          (c)   3              (d) 

5

Watch Video Solution

https://dl.doubtnut.com/l/_bziN7MLheSY8
https://dl.doubtnut.com/l/_vPgefwc8nL2T


62. How many whole numbers are between 437 and

487?


(a)50     


(b)49          

(c)51              

(d)none of these

Watch Video Solution

63. The product of the successor 999 and
predecessor

of 1001 is
(a) One lakh                      (b)     one billion
(c)

one million                   (d) 
   one crore

Watch Video Solution

https://dl.doubtnut.com/l/_Cqu5hmTcsM7X
https://dl.doubtnut.com/l/_yDWd0BjdjN2E


64. Which one of the following whole numbers does

not have a predecessor?


(a)1     


(b)0          

(c)2              

(d)none of these

Watch Video Solution

65. The number of whole numbers between the

smallest whole number and the greatest 2-digit

number is


https://dl.doubtnut.com/l/_yDWd0BjdjN2E
https://dl.doubtnut.com/l/_USsBTFeb18sW
https://dl.doubtnut.com/l/_w43eaJjiaKJf


(a)101     


(b)100          

(c)99              

(d)98

Watch Video Solution

66. If 
 is a whole number such that




(a) 1


(b) 2 

(c) 3 

(d) none of these

Watch Video Solution

n

n + n = n,  then n = ?

https://dl.doubtnut.com/l/_w43eaJjiaKJf
https://dl.doubtnut.com/l/_SVYjSY7pq37Q


67. The predecessor of the smallest 3-digit number
is


(a)999     


(b)99          

(c)100              

(d)101

Watch Video Solution

68. the least number of 4-digits which is exactly

divisible by 9 is 

(a) 1008      
(b)     1009          (c)   1026              (d)  1018

Watch Video Solution

https://dl.doubtnut.com/l/_SVYjSY7pq37Q
https://dl.doubtnut.com/l/_bpCuHUqg1Gih
https://dl.doubtnut.com/l/_oOzIbEnhwrJR


69. The number which when divided by 53 gives 8 as

quotient and 5 as remainder is


(a)424     


(b)419          

(c)429              

(d)none of these

Watch Video Solution

70. The whole number 
satisfying 
is



(a)65


(b) 67 

n n + 35 = 101

https://dl.doubtnut.com/l/_oOzIbEnhwrJR
https://dl.doubtnut.com/l/_OtMllj8GvoCr
https://dl.doubtnut.com/l/_8S1zwdBlMneh


(c) 64 

(d) 66

Watch Video Solution

71. The value of 
 is
 (a) 37800
 (b) 3780 (c)

9450 (d) 30078

Watch Video Solution

4 x 378 x 25

72. the value of 
is



(a)17350


(b) 173500 

1735  ×  1232 − 1735  ×  232

https://dl.doubtnut.com/l/_8S1zwdBlMneh
https://dl.doubtnut.com/l/_Ke0fvSdPpNlF
https://dl.doubtnut.com/l/_Sl2hkPyRt9yO


(c)
1735000 

(d) 173505

Watch Video Solution

73. The value of 
is:


 

 

 




Watch Video Solution

47 × 99

(a)4635

(b)4653

(c)4563

(d)6453

https://dl.doubtnut.com/l/_Sl2hkPyRt9yO
https://dl.doubtnut.com/l/_AtLlCaWRPlIB


74. Which one of the following is not a natural

number?


(a)1   


(b)10      

(c)0         

(d)20

Watch Video Solution

75. If 
 is an (a) odd natural number greater than 1,

then
the product of its successor and predecessor
 is

an odd natural number (b)
is an even natural number

(c) can be even or odd (d) None of these

n

https://dl.doubtnut.com/l/_6onPXXns1QJI
https://dl.doubtnut.com/l/_TnCUhGU3UEsh


Watch Video Solution

76. The number of whole number between the

smallest
 whole number and the greatest three digit

number is


(a)1000   


(b)999      

(c)998         

(d)None of these

Watch Video Solution

https://dl.doubtnut.com/l/_TnCUhGU3UEsh
https://dl.doubtnut.com/l/_I0nMntjycSQu


77. If 
 then the commutativity
 of

addition 
(a) 12
(b) 7 (c)
19 (d) 5

Watch Video Solution

x + 12 = 12 + 7,

x =

78. If 
 then by

using associativity
of addition  

(a )46


(b) 38 

(c)
23 

(d) 69

Watch Video Solution

(31 + 15) +  x = 31 + (15 + 23),

x =

https://dl.doubtnut.com/l/_FeGaIn4hAxID
https://dl.doubtnut.com/l/_K48CEkoRQD9q
https://dl.doubtnut.com/l/_2YQTkkY7uXCj


79. What is the multiplicative identity element in
 the

set of whole numbers?
 (a) 0
 (b) 
 (c) 1 (d)
 None of

these

Watch Video Solution

−1

80. What is the additive identity element in the
set of

whole numbers?
(a) 0 (b) 
(c) 1 (d)
None of these

Watch Video Solution

−1

81. If 
is an even natural number, then the product of

its successor and predecessor (a) is an even natural

n

https://dl.doubtnut.com/l/_2YQTkkY7uXCj
https://dl.doubtnut.com/l/_Y64AdDwboM8Q
https://dl.doubtnut.com/l/_uqKMN7aWkMYe


number (b) is an odd natural number
 (c)can be even

or odd
(d) None of these

Watch Video Solution

82. Additive inverse of 28 is


(a) 


(b) 


(c) 


(d) 82

Watch Video Solution

1

28

0

−28

https://dl.doubtnut.com/l/_uqKMN7aWkMYe
https://dl.doubtnut.com/l/_2pJ2DIEa0Gdo


83. Which of the following is not zero? 

(a) 


(b) 


(c) 


(d) 

Watch Video Solution

0  ×  0

0

2
(6 − 6)

2

4 + 0

84. Determine the product of the greatest number of

three digits and the smallest number of two digits.

Watch Video Solution

https://dl.doubtnut.com/l/_pmRVddjYejqN
https://dl.doubtnut.com/l/_mE8vwaR6uHDG


85. Simplify 
 by using

distributivity
of multiplication over addition.

Watch Video Solution

754 x 845 + 754 x 155

86. Match the following

Watch Video Solution

625 x 436 = 625 x 400 + 625 x 30 + 625 x 6

25 x 69 x 8 = 25 x 8 x 69

60 + 19758 + 840 = 60 + 940 + 19758

https://dl.doubtnut.com/l/_PaPQ2B5S0YeC
https://dl.doubtnut.com/l/_DFvRZyEFpt27


87. Determine the following sum by using suitable

rearrangement:


Watch Video Solution

2 + 3 + 4 + 5 + 45 + 46 + 47 + 48

88. Complete the following magic square by
supplying

the missing numbers: (Figure)

Watch Video Solution

89. Replace * by correct digit in the following:

Watch Video Solution

5001003 −   ∗ 6987 = 484 ⋆ ⋅

https://dl.doubtnut.com/l/_pl5WO9WKThm7
https://dl.doubtnut.com/l/_fGiOgnJP4rW1
https://dl.doubtnut.com/l/_IhFYvDpRUxaJ


90. Shikkha withdraw Rs. 1,00,000
 from her bank

account. She purchased a TV set for Rs. 38,750, a

refrigerator
 for Rs. 23,890 and jewellery worth Rs.

35,560. How much money was left with
her?

Watch Video Solution

91. Find


Watch Video Solution

15908 x 542 =

92. Divide 57086 by 247

https://dl.doubtnut.com/l/_IhFYvDpRUxaJ
https://dl.doubtnut.com/l/_FMPxjCrya2rR
https://dl.doubtnut.com/l/_LU2oLF83G3GB
https://dl.doubtnut.com/l/_PBKboek8rIpm


Watch Video Solution

93. On dividing 55390 by 299, the remainder is 75.

Find the quotient

Watch Video Solution

94. Fill in the blanks:
The sum of two odd numbers is

an ............... number.

Watch Video Solution

https://dl.doubtnut.com/l/_PBKboek8rIpm
https://dl.doubtnut.com/l/_DQUD9VBkxhkT
https://dl.doubtnut.com/l/_0qIUwbyghjyg


95. The product of an odd number and even number

is
an ............ number.

Watch Video Solution

96. Property 7 (DIvision Algorithm) If a whole number

a is divided by a non-zero whole number b then there

exists whole numbers q and r such that 

whole either .

Watch Video Solution

a = bq + r

r = 0 or r < b

https://dl.doubtnut.com/l/_UYAqQEQj00Sg
https://dl.doubtnut.com/l/_djt31l3lxVwU


97. If a whole number 
is divided by a non zero whole

number 
 such that the quotient is 
 then the

remainder is ...................

Watch Video Solution

a

b q,

98. A number when divided by 12 gives 7 as quotient

and 9 as remainder. The number is ..................

Watch Video Solution

https://dl.doubtnut.com/l/_2R791keAm0Pv
https://dl.doubtnut.com/l/_TZt2Bjo9dCLT

